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IBEL | E'vhy| RFEA 957 B8R
1 47 WX —# Ay 1T KR 77 12.750
2 78 |HE EBX A SERAIREREE 12.500
3 77 [[IX =#t A SERAIREREE 12.400
4 50 (#2283 Fl{Z MIEY 1-TIAIRY77 12.350
5 63 |HM — =ZEEMAEERI-L 12.250
6 67 |mEE FIE PIEARIR)F7 12.200
6 68 |l FKER TFATINRE =977 12.200
8 48 |0 #WF MIEY 1-T AR 77 11.900
8 73 |HIE B+ TFATINRE =977 11.900
10 74 [BIR HiE IFIAR =977 T FH 11.850
11 55 |5F & BRY 1ZTARIRYI77 11.800
12 65 |B&k 5 PIEARIR)F7 11.700
12 70 |REZE KIB FTFIINAK =977 11.700
14 59 (it EEER =BT REHE 11.650
14 81 [EEH F*H THAE)F7 11.650
16 54 | K& FE kAR -v957 11.600
17 66 |EiE PIEARIR)F7 11.450
18 71 [BRHF A FTFATINRE =977 11.400
18 82 |k EA THAE)F7 11.400
20 80 [ &% THAEIF7 11.350
21 62 [mIEF #& =ZEEMAEERI-L 11.300
21 79 |BH ER THAE)F7 11.300
23 75 Bz TR IFIAR =977 T FH 11.250
23 83 | K& IH THAEIF7 11.250
25 72 |tk#R BH FTFAFNRE =977 11.200
26 58 (&M@ #C2 =B TEREHE 11.150
27 60 (82 EKXH NTIRREEKRY77 10.950
28 49 |fnfE BEE Wiy 17 IRMRY 57 10.800
29 56 |HE BIE BERYV 1ZTIRIE)FT 10.350
30 57 |[RE B BERYV 1ZTIRIE)FT 10.100
31 61 [HBAX B NTIRREKRY77 10.050
32 76 |/ BN IFIAR =977 T FH 0.000
32 84 |thEF &Bh THAIE)F7 0.000

#H#| 51 B = WILAR =977 Y

#H###| 52 (L ERE Wi AR —94977 7y

#H#| 53 [BH M WILAR =977 Y
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BFISAM(BHAR)

IBEL | E'vhy| RFEA 957 B8R
1 71 [BRHF HH FFATINRE =977 12.650
2 82 |k ZEA THREEY77 12.000
3 68 |mJIl FAKER FFATNRE =977 11.900
4 58 (&M@ &2 SEFEAREHE 11.850
5 47 WX —# ey 1T IKIE)77 11.800
6 73 |HIE B+t TFAINRE =977 11.700
7 59 |Hiath EEER =B TFREHE 11.600
7 72 |tkik BH TFAINRE =977 11.600
9 77 [[IX =#t A EMAREREE 11.500
10 55 |5F & BRY1Z7IKIRYF7 11.450
11 70 |REZE KIB FTFIINAK =977 11.300
12 63 |&HM — =ZEEMAEERI-L 11.250
13 62 [mIEF & =ZEEMAEERI-L 11.200
14 66 |EiE PIEARIR)F7 11.000
15 81 [ERt F*HE THAE)F7 10.950
16 80 [ &% THAE)F7 10.700
17 67 |MNEk FE PIEARIR)F7 10.600
18 50 |#2BF F{= Ry 1z 7 {KIRY57 10.300
19 60 (&= EKXH NT RIEKIEIF7 10.250
20 78 |HE EBX MAEMAIREREE 10.000
20 79 |BH ER THAE)F7 10.000
22 54 | K& FE b AR—v957 9.800
22 65 |Bf&k 5 PIEARIR)F7 9.800
24 48 |BAO tF fAEY 1= TIKIE)77 9.700
25 74 |BR EiE IFIAR =977 T FH 9.600
26 56 |HE BIE BERY 1ZTIRIE)FT 8.700
27 83 | K& HH: THAIE)F7 8.400
28 75 B TR IFIAR =977 T FH 8.000
29 84 |thEF &Bh THAE)F7 7.800
30 57 |[RE B BERY 1ZTIRIE)FT 7.650
31 49 |fnfE BEE RBY 1ZTIKIE) 57 7.050
32 61 |BX & NTIRREKRY77 4.900
33 76 |/ BN IFIAR =977 T FH 4.700

#H#| 51 B = WILAR =977 Y

#H###| 52 [#EIL E=RE Wi AR —94977 7y
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BFISAM(BR)

IBEL | E'vhy| RFEA 957 B8R
1 63 |HME — =ZEBMAEERAI-L 13.250
2 73 |HIE B+t TFAINRE =977 13.200
3 72 |tkBR BH FFATNRE =977 13.150
4 1 [RHF HH TFAINRE =977 12.850
5 50 [#2B8 Fl{= ey 1T IKIE)77 12.400
5 81 [BEH FhE THREEY77 12.400
7 68 |MJIl FAKER FFATNRE =977 12.350
8 54 | K& FE M kAR -9977 12.250
8 62 [AIE %% =ZEBMARERAI-L 12.250
10 55 |5F & BRY 1-TRIRYI77 12.150
11 78 |HE EBX A SERAIREREE 11.900
12 67 |mEE FE PIERIR)F7 11.800
13 80 [ &%= THAE)F7 11.750
14 66 |EiE PIEARIR)F7 11.700
15 83 | K& IH THAE)F7 11.550
16 79 |BH ERE THAE)F7 11.450
17 60 (8= EXH NT RIEKIE)IF7 11.350
17 77 [[IX =#t A SERAIREREE 11.350
19 58 (&M@ #C = EFERIEHE 11.300
20 47 WA —# Ay 1T IKIE)77 11.150
20 48 |BAO tF AEY 1=TIKIE)77 11.150
22 76 |/ EAN IFIAR =977 T FH 11.050
23 70 [KZE KXi& FTFAINRE =977 11.000
24 59 |t EEER =BT REHE 10.900
24 75 B TR IFIAR =977 T FH 10.900
26 57 ||RHE & BERY 1ZTIRIE)FT 10.850
27 61 [HBX & NTIRREKRY77 10.800
27 65 |BEfE 5 PIERIE)F7 10.800
29 49 |fnfE BEE By 1ZTIKIE) 57 10.750
29 82 |k EA THAIE)F7 10.750
29 84 |thEF &Bh THAE)F7 10.750
32 56 |HE BIE BERY 1ZTIRIE)FT 10.600
32 74 |BR EiE IFIAR =977 T FH 10.600

#H#| 51 B = WILAR =977 Y

#H###| 52 [#EIL E=RE Wi AR —94977 7y
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IBEL | E'vhy| RFEA 957 B8R
1 71 [BRHF HH FFATINRE =977 12.950
2 72 |tkik BH TFAINRE =977 12.900
3 68 |mJIl FAKER FFATNRE =977 12.600
4 78 |HE EBX A SEMAIREREE 11.950
5 47 WX —# ey 1T IKIE)77 11.900
5 62 |iAIEF % =ZEEMAEERI-L 11.900
7 66 (Bt 1 FIEERRIZ7 11.850
8 73 |HIE B+t TFAINRE =977 11.800
9 67 |mEE FE PIEKRIE)F7 11.750
10 70 |RE KiE TFAINRE =977 11.650
10 77 [[IX =#t A SERAIREREE 11.650
12 63 |&HM — =ZEEMAEERI-L 11.600
13 81 [EEH F*H THAE)F7 11.400
14 50 (4283 F{= Ay 1T IKIE)77 11.350
15 59 (it &R =BT REHE 11.300
15 80 [ &% THAE)F7 11.300
17 58 (&M@ #C2 = EFERIEHE 11.250
18 82 |k EA THAE)F7 11.200
19 48 RO tF Ay 1= TIKIE)77 10.950
20 55 |<F & R 1ZTARIRYI77 10.900
20 60 (&= EKXH NT RIEKIEIF7 10.900
20 74 |BR EiE IFIAR =977 T FH 10.900
23 49 |fnfE BEE Ry 1z 7 {KIRY57 10.800
24 54 | K& FE kAR -v957 10.700
25 65 |BEfE 5 PIERIE)F7 10.550
26 56 |HE BIE BERY 1ZTIRIE)FT 10.500
27 75 BB TR IFIAR =977 T FH 9.900
27 79 (BAE B THAIE)F7 9.900
29 61 |BX & NTIRREKRY77 9.800
30 84 |thEF &Bh THAE)F7 9.450
31 57 ||RHE & BERY 1ZTIRIE)FT 9.250
32 76 |/ BN IFIAR =977 T FH 8.000
33 83 | K& AHi ITHIKEYF7 5.700
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